Section 2.3

Compute the exact value of the following limits. If the
limit does not exist, support your answer by evaluating
left and right hand limits.
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Section 2.5

10. Referring to the graph, explain why the function
f(a) is or is not continuous (you decide which) at
r=—1l,r=3 =5 r=—4and xr = 7. For the
values of r where f(x) is not contimious, is it con-
tinuous from the right, left or neither? In addition,
for each discontinuity, is it a jump discontinuity, in-
finite discontinuity or a removable discontinuity?

dodg 746 55 44 3 D

ar  x= -l Ly . ooz -3
x> -\
ESN Cxy- - L
L

ok x= 2

AT

at x= S N
x5

X35

0‘1’ xz="1" -C(’_]B dne

fe3) is nDF de_ﬁmad

FoN= 1) i

Cixy 1S cortinupu S
at Xz Q@ V& —ajl ot

the Collowng 1S FUE

® Fay musk exist

sk
hwn B0 muﬁ# exis
@ X3 O

x> QA

not @@u@]
b Loy dne, +hus

K>

nbF QM\A—\r\uoUS A 7=l
"l/\\us (\D'}_ Con-)’\ﬂMOUS
ayr *x- 3

SO
v L) Ane.
X35

Fo)= 3



11. Sketch the graph of f(z) and determine where the

function
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is not continuous. Fully support your answer.
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12. Which of the following functions has removable dis-
continuity at x = a? If the discontinuity is remov-
able, find a function g that agrees with f for x £ a
and is continuous at ¥ = a. Note: f has removable
discontinuity at » = a if Ill_I{]:JI f(z) exists and f(x)
can be redefined so that ;IHE: flz) = fla) (therehy
removing the discontinuity).
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13. If f(z) = % find all values of x = a where
x? + 5z

the function is discontinuous. For each discontinu-
ity, find the limit as x approaches a, if the limit
exists. If the limit does not exist, support your an-
swer by evaluating left and right hand limits.
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15. If g(r) = 2° — 22° + 27 + 2, use the Intermediate '. .
Value Theorem to find an interval which contains ! c '
a root of g(x), that is contains a solution to the \
equation g(z) = 0.
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16. Find the values of ¢ and d that will make
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c and d is found, find ]iml f(z) and lim f(x).
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Section 2.6

17. Compute the following limits: "«
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